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L. The refation y = log x implies
: i

(A) & (B) # (€)xf =1 (D) v&- x

2. Write 4 with Radical Sign:

(A) V4 (B) 4 (C) /4 () 4
3. Concept of Matrices was developed in
(A) I858 (B) 1958 (C) 1758 (D) 1830
i s I equal to;
©a=b a+h BHEE
E: 29 b =2
(A) YT (B) e (C) al - (D) al -
S, I vasno larger than 10 then
(A) Ao 10 (B) x> 10 (C) x< 10 D) x28
0. HCF of ¥-Sv+6and *-x-6is:
(A) x-3 (B) x+2 (C) x*-4 D) x-2
7. The factors of ¥' - 5x + 6 are
(A) xt].x-6 (B) xt2,¢43 (C)x+6,x-] (D) x-2,x-3
5. The Point (2. -3) lies in Quadrant
(A) | B) |l (C) IV (D) 1
9 Medians of a Triangle are
(A) Paralle (B) Equal (C) Concurrent (D) Congruent
0. Two Parallel Lines Intersect each otherat — points:

\tkour Pomts— (B) At Three Points —(C) At Two Points (D) No any one Point
L Atriangle having all sides equal is called

(A) Equilateral (B) Isosceles (C) Scalene (1) Right Angled
2. The biscctor of the three angles of a triangle are

(A) Congruent (B) Parallel () Equal (D) Concurrent
3. The __altitudes of an Isosceles triangle are congruent:

(A) 2 (B) 3 (C) 4 (D) |
[4. Congruent Figures have  area:

(A) Different (B) Same (C) Parallel (D) Concurzent
5. The number of lines passing through two points is: m
£ (A) 4 (B) 3 (C) 2 nﬂﬂg\ @@
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